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QUESTION 1

Which three protocols are available only on the command line to configure as performance SLA status check? (Choose
three.)

A. smtp

B. tcp-echo
C. twamp
D. udp-echo
E. icmp

Correct Answer: BCD

QUESTION 2

What are two reasons for using FortiManager to organize and manage the network for a group of FortiGate devices?
(Choose two)

A. It simplifies the deployment and administration of SD-WAN on managed FortiGate devices.
B. It improves SD-WAN performance on the managed FortiGate devices.

C. It sends probe signals as health checks to the beacon servers on behalf of FortiGate.

D. It acts as a policy compliance entity to review all managed FortiGate devices.

E. It reduces WAN usage on FortiGate devices by acting as a local FortiGuard server.

Correct Answer: AE

QUESTION 3

Refer to the exhibit.
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FortiGate # diagnose firewall shaper per-ip-shaper list
name FTP 5M

maximum-bandwidth 625 KB/sec
maximum-concurrent-session 5

tos ff/ff

packets dropped 65

bytes dropped 81040

addr=10.1.0.1 status: bps=0 ses=1
addr=10.1.0.100 status: bps=0 ses=1
addr=10.1.10.1 status: bps=1656 ses=3

Which two statements about the debug output are true? (Choose two)

A. The debug output shows per-IP shaper values and real-time readings.
B. FortiGate provides statistics and reading based on historical traffic logs.
C. Traffic being controlled by the traffic shaper is under 100 KB/s.

D. This traffic shaper drops traffic that exceeds the set limits.

Correct Answer: AD

QUESTION 4
Refer to the exhibit.

= VPN Community.. &, Install Wizard

= All VPN Communities Name H23
EY H2s #  Dislup  Mumberof 3 IKE Security (Phese 1) m
WPN Propenias

Authentcation: Pre-shared Key  |Pase Securily (Phasa 2)
Propertias

+Createbow ~ [Feat (g cione [ Detete Oy Column Settings
Name Role Defoult VPN Interface Protecied Subnet
# NFGEW-1[root] [ Husts | petl = SSLVPN_TUNNEL_ADDR1
Spake-1 part = FABRIC_DEVICE
Spake-2 portl = FIREWALL_AUTH_FORTAL_ADDRESS

What must you configure to enable ADVPN?
A. On the hub VPN, only the device needs additional phase one sett
B. ADVPN should only be enabled on unmanaged FortiGate devices.

C. Each VPN device has a unigue pre-shared key configured separately on phase one
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D. The protected subnets should be set to address object to all (0.0.0.0/0)..
Correct Answer: D

SD-WAN 6.4.5 Study Guide. pg 210

QUESTION 5

Refer to the exhibit.

branchl_ fgt # diagnose sys sdwan service 3

Service (3): Address Mode (IPV4) flags=0x200 use-shortcut-sla
Gen(5), TOS(0x0/0x0), Protocol (0: 1->65535), Mode (priority), link-cost-
factor(latency), link-cost-threshold(10), heath-check (VPN_PING)
Members (3):
1: Seq num(3 T INET 0 0), alive, latency: 101.349, selected
2: Seq num(4 T_INET_1 0), alive, latency: 151.278, selected
3: Seq num(5 T MPLS 0), alive, latency: 200.984, selected
Src address(1l):
10.0.1.0-10.0.1.255

Dst address(l):
10.0.0.0-10.255.255.255

branchl_fgt (3) # show
config service
edit 3
set name "“Corp"
set mode priority
set dst "Corp-net"
set src "LAN-net"
set health-check "VPN_PING"
set priority-members 3 4 5
next
end

The exhibit shows the SD-WAN rule status and configuration.

Based on the exhibit, which change in the measured latency will make T_MPLS_0 the new preferred member?
A. When T_INET_0_0 and T_MPLS_0 have the same latency.

B. When T_MPLS_0 has a latency of 100 ms.

C. When T_INET_0_0 has a latency of 250 ms.

D. When T_N1PLS_0 has a latency of 80 ms.

Correct Answer: D

NSE7_SDW-7.0 PDF Dumps | NSE7_SDW-7.0 Practice Test | NSE7_SDW-7.0 Study Guide 41/5


https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html

VCE & PDF https://www.pass4itsure.com/nse7_sdw-7-0.html
2024 Latest passditsure NSE7_SDW-7.0 PDF and VCE dumps Download
PassditSure.com

NSE7_SDW-7.0 PDF NSE7_SDW-7.0 Practice NSE7_SDW-7.0 Study
Dumps Test Guide

NSE7_SDW-7.0 PDF Dumps | NSE7_SDW-7.0 Practice Test | NSE7_SDW-7.0 Study Guide 5/5


https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
http://www.tcpdf.org
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html
https://www.pass4itsure.com/nse7_sdw-7-0.html

